Cll# bajlaHCHpOBKa CMEIIaHHBIX U3MEPEHUM s

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) 8 000 rpammoB(Ma) = KHJIorpamMma(oB)
1.
2) 180 muH = q
2.
3) 40 muMMeTpsl = CaHTUMETPBI
3.
4) 144 yaumii(un) = byHTOB(TA)
4.
5) 4 romer = MECSIIBI
5.
6) 8 Hemenu = JTHA
6.
7) 49 nuu = 13053 (17
7.
8) 4 mub = ¢byToB
8.
9) 1dyr= TIOWMOB
9.
10) 32 xBapThl = raJIOHbI
10.
11) 24 mroiimMoB = byToB
11.
12) 7 ¢ynros(ta) = YHIUH(1N)
12.
13) 6 metpel = CaHTUMETPBI
13.
14) 36 mecsup = rOAbI
14.
15) 4 ramnonsl = KBapThl
15.
16) S5u= MHH
16.
17) 4 000 MummUTpOB(pa) = TUTpOB(pa)
17.
18) 6 gau = q
18.
19) 5 kunomerpoB = METpPBI
19.
20) 7000 metpsl = KHJIOMETPOB
20.
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BaJIaHCHpOBKa CMCIIIaHHBIX I/I3MepeHI/If/'I Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) 8 000 rpammoB(Ma) = & KHJIorpamMma(oB) g
1.
2) 180mMua= 3 q
2 3
3) 40 muwuumerpel = 4 CaHTUMETPBI
3. 4
4) 144 yaumii(un) = 9 byHTOB(TA)
4. 9
5) 4rompi= 48  mecsubl
5. 48
6) 8Henemm = 56  HHU
6. 56
7) 49 mau= 7 HeJleNu
7. 7
8) 4mmwib=_ 21120 d¢yrtoB
8. 21 120
9) 1dpyr=_ 12  nmroiimMoB
9. 12
10) 32 xkBapthi= 8§ raJIOHbI
10. 8
11) 24 moiimoB = 2 byToB
11. 2
12) 7 ¢pynroB(ta)=_ 112  yHuuid(um)
12. 112
13) 6 merper=_ 600  caHTUMETpHI
13, 600
14) 36 mecanpr= 3 rOAbI
14. 3
15) 4ramonsl= 16  KBapThl
1s. 16
16) 5Su= 300 wMuH
6. 300
17) 4 000 mummmiutpoB(pa)= 4 nuTpoB(pa) 4
17.
18) 6 guu= 144 4
18. 144
19) 5 kmnomerpoB= 5000 metpsl
19. 5000
20) 7000 metppr = 7 KHJIOMETPOB
20. 7
1-10 {95190 ]|85]80|75]70]65]|60[55|50
MatemaTukaj = o oreSheets.ru 11-20 [45]40[35[30]25]20[15]10] 5 [0




